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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last page

and indicate your answers on the Answer-Sheet provided.

3, Use of any type of calculator or log table and Mobile Phone is prohibited. -
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Fam:@.1-3) Directions : (Question 1-3)

Read the g ’ low. Choose th
2 R 3 e e diagram given be OW' ¢
IS 1 e Hifore answer from the given options of the

W F FTW ﬁQ e fawea q ﬁﬁ‘l‘{ : . fOllOWing questions :

38

20/” '5\ 30 20/1?(15\ 30 )40

[T | 7R

A:mﬁaﬁw%ﬁﬁm A=N0. of persons who drink tea
@) =FTH 9 39} et 6 g O- No. of persons who drink coffee
D = YR® 913 STt =afat ) g D = No. of persons who drink wine

1. @Eﬂﬁlﬁiﬁtm;ﬁaﬁamﬁg: 1. Number of those persons who drink

only coffee :
s (@ 25
el ®) 45
(c) 20 © 20
(d 90 ) 90

2. U@ =fRmEl 1 wen o 97 ok wwy | 2 Number of those persons who drink tea

P and coffee both ;
@@ 7
s o
© 20 8
i s d) 25
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3, WA i i wen A, Fwok
v efi fia &
(@) 15

(b) 32

(c) 22

(d) 24

4, T : @ TP & Y T LA R
T | 3y 78 ffeea fifse 6 SR
b ITeE & 3TN S o1 FHAR 2 |

UM : T WA A ot o i Afeena
3R wgfnat o fog g e 9o #
HEE R

-1 : 781, T TR THH TR @i
Y HE S |

FH-11 ; =, ey wfgemedi & 7" i
FTOH T 1 TE THAH T 2 |

(a) Fa TH-1 LT 2 |

(b) et T-11 AT 2 |

(c) I k-1 TN eh-1L W & |

(d) et ah-1 3 7 eh-11 Hoee & |

5. @E 6n2 + 6n W&l n U N G 8,
B W R

Number of those persons who drink all,
tea, coffee and wine :

(a) 15
(b) 32
(c) 22
(d) 24

Direction : Two arguments are given
after a statement, you have to
decide which argument is strong
and which argument is weak.

Statement : Should the complete
education for women and girls of
all the age groups to be given free
of cost in India ?

Argument I : No, it will weaken our
present social structure.

Argument II : Yes, it only is the way
to regain the glory of Indian women.

(a) Only Argument I is strong.

(b) Only Argument II is strong.

(c) Either Argument I or Argument II is
strong.

(d) Neither Argument I nor Argument I
is strong.

The number 6n2 + 6n, where n is a
natural number, is always divisible by

(a) 183 (a) 18
(b) 128 (b) 12
c) 67 (c) 6
(d 67128 (d) 6and12
CGP-IS-OZ‘ Pmm.s m
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6. Fefafeadashmanwt ¢
12 5, 23 e, 30 SardY, § Ry,

14 Tqva
(a) 23 9Had)
(b) 30 9=l
(c) 5 Tramsy
(d) 14 Tavay
fdm: w.7-12)
%wm%wmﬁmm
e | ! { |
JYZ-‘—-SidEGME__TSHPS?KLb@WQ 1_34;(:1)@!)
: 3
\f
P 1. @ﬁmﬁmiﬁﬁmﬂﬁgﬁﬁ
k__\ .
&1 0% 8 T8 T 38R o 2
a
fopeg Q1 1elt Py
2 @@
T (b) TH
? (c) &
> (@ @

8. 2YS, Edf ® It yor g & 3

6. Which of the following is odd one ?

12* January, 23 January, 30" January,

5% September, 14" November
(a) 23 January

(b) 30" January

(c) 5" September

(d) 14" November

Direction : (Question 7 - 12)
Study the following and answer the questions :

JY2=S£dEGM:7$HP9KLb@WQ13#CD®©

7. How many such symbols are there each
of which is followed by a number or
preceded by a letter but not both ?

(a) Zero
(b) One
() Two
(d) Three

8.  2YS is related to Edg in the same way

PHK wwafe 2 as PHK is related to
@ bQdd (@ bQd
(b) @bL# (b) @bL
(c) WQEH (©) WQE
(d @bQ¥ @ @bQ
CGP - 18 - 02* Page No. 6
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AW fran 3 T Rl vl & Wi ﬁ-qq; 9, How many such digits are there each of

Tefte R 41 TRAF B TEA TH HER 377 & which is followed by a symbol or
preceded by a letter but not both ?

g il el 7

(a) A (a) Zero

(b) T (b) One

© @ ) Two

(@) T A RS T (d) None of these

10, ¥ frat s & e wds $wed A | 10.  How many such Jetters are there each of

TRIF ¥ TES T G T & fheg which is followed by a number or
preceded by a number but not both ?

Tl ?
{a) 9N (a) Four
—
(b) A (b) Three
© 3r (c) Two
d) (d) One
11, 39 e § 3N % fFa g ? 11. How many English numerals are there
in this arrangement ?
7
(a) b
— ) 3 ®) 5
© 2 © 2
@ 0 (e (d) 0 (None)
CGP - 18 - 02* Page No. 7 Sk
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2. T A T %) e v el
FAE?

(2) T oft i
(b) TH

< () @
(d) d=

1, ‘5""*%"\@“ & of ﬁﬁtﬁ :ﬂmmn%

b [ &
__hj _n_rt b &ghjiin}—
(a) beim i -

(b) cfgo
(c) dfgp -
(d) dflp _

14, Frefafen s § @ 2 fen S
I3 T fom T i e et o et

77
L/@A (B) h
LI oS\

Aa) ¥4 (A) 3R (C)
(b) %3 (B) 3R (D)
(c) %a@ (A) 3R (B)
(d) a4 (A), (C) 3R (D)

12,

13.

14,

How many symbols represent the

currencies of some countries ?
(@) None
(b) One
(c) Two

(d) Three

The missing letters in the following

letter series in order are :
b__hj_n_rt

(a) bcim

(b) cfgo

(c) dfgp
(d) dflp

Which of the following figures can be

drawn without lifting the pencil and
without repeating a line ?

A)lh (B)
cC)LlZI (D)M

(a) Only (A) and (C)
(b) Only (B) and (D)
(¢) Only(A) and (B)

(d) Only (A), (C) and (D)
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15. Pr=fafea 3111'@ Hq ﬁl‘é‘[, T 3t i!} 15. Which diagram shows district, state and
) A U1 AT ARG G } 7 country in following diagrams ?

- @D »@D

(c) @ (c) @

16, 1w ydaudddaigiioms | 16. At which time the hands of clock will

 forg g w e 2 meet together between 1 and 2 O’clock ?
(@) 1:30 (@ 1:30
® 1:57 ) 1:55
(c) 1:10'% (c) 1:10—%
(d) 1:101% (@ 1:10{’5
17. a3 =817 n=" 17. 1f\/3 =81, thenn="?
(a) 81 (a) 81
) 9 (b) 9
() 8 (c) 8
(d 6 (d 6
CGP-18-02* ~pageNo.9 T S
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18, lllgexjfTTﬁx ?;56 HAAL : 18. " The value of 111926)(3@)( 2856i3
(a) 32 (a) 32
(b) 36 () 36
(c) 28 (c) 28
(d) 24 (d) 24
GG RO R PR TR,
Mg i
0! @
'(b) % (b) %
& 2nn—1 OB
g @ n(n2+1)
@ Sa+D
20. Complete the following -
20. fr= % g ity YBV, TGT, OLR, JQP,
YBV, TGT, OLR, JQP, (a) EVO
(a) EVO (b) FVM
(b) FVYM (¢) EVN
(¢) EVN (&) FVN
(d) FVN
CGP-18-02* Page No. 10
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21, wagn i el yfar e fhan i ghyt | 21, All Saturday and Sunday are holidays
wh & | 3R v swadt 1 8, A se in a month. If the month is January,
F{ﬁﬁqﬁwm ? 3 then how many total holidays are there

¥ & in that month ?
(a) 8 « 3
% (a) 8
9
(b) ®) 9
(c) 10 © 10

/ (d) SR fi 2 | (d) Incomplete information.

ew : (9.22-26) Direction : (Question 22 — 26)

2 e T atE F1 38T IR afRagw | Study the graph given below and then give

STTUTRE YA T I AT ¢ the answer to the questions based on them.

0 | Percentage of Non-electrified Villages
wp  whetgmiesim © o 0
60 1 0. @ 50
50 , 50 gl 45 i
e | 45 3 { ]
S 404 (;?’ %40 30
30 £301 25
304 25 = - | 20
‘E 204 22 s
1 L
10¢ P . ~
: ; 0 G
I W e T - b LS
States
T
22. frg vy # fagediga ymi & wfowa | 222 In which state percentage of electrified '
sfhHaad ? village is maximum ?
(a A (@ a
(b) ® () b
_ (= () ¢
@) T @) d
cGP-18-02* page No. 11 o~
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23, mhmﬁmﬂﬁqﬁww
T Tar 2 ot i gt 9
e ot et v @ s et 2

eﬁaﬂmmﬁﬂqmma\ﬁw‘“
R

(a) |§
~(b) ¥
(¢) 31

d) %

23,

B |

If Central Government decided to help

Immediate electrification and started

from the stage having minimum
Clectrified villages, then which state

Will be fourth in preferential order ?

(@) ¢
() b
(c) a

(d) f

2, Ir.l how many states electrification of
' the villages have been ¢ leted
mwmmﬁ ik atleast 60;: or above ? k.
() gy
(@) Five
& (b) Three
158 WK (¢) Four
@ a (d) Two
25. ®9 W sy ¥ R W&l T & TN F | 25. Inwhich state percentage of electrified
villages is double in comparison with
_@@Eﬂtﬁwmm%? state d ?
(@ § ~ T
(b) ® (b) f
() (c) a
@ % R
CGP - 18- 02° Page No. 12
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26. TS 3 H fanaa witrera w1 fergefieo
AgER?
(a) 65
(b 25
(¢) 35

T

(d 75

fdw: @ 27-31

Prifiea =TE 2 297 (WRa § 0 & AT
fafir= mel W @ wehifa w1 § | 61 AT

Lot = 3¢

27. W99 W YRA $ T9 A S G B
T
fpaa T ® ?
(a) 39 @ P+

") IWIAFA

3\

. © AT A FH
@ Aa R

26. How many percentage of villages have

electrified in state a ?
(a) 65
(b) 25
(c) 35

) 75

Direction : (Question 27 - 31)

The following charts shows the expenditures
on different items of people of two countries
(India and Nepal). Study them and find the

correct answer of the questions given below :

Travel | Education
45°| 49°
Other 500 ’
c

N

Nepal India

27. How many times is the expenditure of
India to expenditure of Nepal on food ?

(a) More than half
(b) Less than half
(c) Less than two times

(d) More than two times

Latest Sarkari Jobs, Govt Exam Results,
. x Know More
Vacancies and updates on one click
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is the percentage of
28. qTer F AT W Y e Ieqd WHA 28. How much more is the pe ‘ '
: : total expenditure on entertainment in
v Tt ? comparison to food of the people in
Nepal ?
(a) 62.4% cp
(a) 62.4%
b) 71.5%
2 (b) 71.5%
(c) 41.7% RN
wh el (d) None of these
29. wRdE @ 1 ot WA W @S @t | 29, Whatis the approximate percentagc. of
fre gfasTd expenditure on other items of Indian
L people ?
(@) 22% (a) 22%
(b) 14% (b) 14%
() 9% ) 9%
d) 17% Wb 1%
(4]
30. What is the ratio of expenditure on
g T W @ a1 AT .
= el travel of Indian people and expenditure
i mqmq'{@éﬁ'em : & ontravelofNepalpeople?
(@ 9:5
(@ 9:5
5 b 2:3
(b) 2
(c 5:3
83
3 (d 3:4
(d) 3 4 . ’
Page No. 14
__-4
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7fe Jurer @1 e W 19 ¥ 22 g 50
FIR A A T 3d R foha @ gy

27
(a) Z 65 @@ 30 TR

(b) T 50 @ 60 TR
(c) T60TE

(d) T10¥m@ 20 TR

31. If the expenditure on education is

Z 22 lakhs 50 thousand of Nepal people,
then how much their expenditure is on

entertainment ?

(a) T 65 lakhs 30 thousands
(b) T 50 lakhs 60 thousands
(c) T 60 lakhs

(d) T 10 lakhs 20 thousands

The weight of a bucket full of water is

3. THATEIRAH IR 20 TR | 32
If aTed Tt & el i & T SUH ¥R 20 kg. If the bucket is half filled with
14 f5am. & | @Tel TR H VR me{ water, then its weight is 14 kg. How
— '% ‘ ¢ many kg is the weight of empty bucket ?
1.8 .7
(a) 6Fp.m (2) 6kg
®) 7f.m ) 7kg
© 10%.. (€) 10kg
@ 8femm. (d) 8kg
33, ATATH IR B FAN: 2R gAr3Eee | 33, Two pipes can fill a cistern in 2 and 3
F g € | A 1 7 @ I g hours respectively. If both the pipes are
R g, oY St WA o T T - opened together, then the time taken to
: fill the cistern is
queT 30 fire
g 2 (a) 2 hrs 30 minutes
BTy (b) 5hrs
() So0fie (¢) 50 minutes
(@ 19w 12fme (d) 1 hr 12 minutes
CGP - 18- 02* Page No. 15 Set-A
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3, zsomwmﬁwﬁ@ﬁ
12 dovg T Heh R | e B
T fereinties wfty wmer & ¢
(@) 60
(b) 80
721678
: (d) 50

35, THITGHT2,700F I WA A E
Bieht R R 5 aeq 1 10% sy A=
TR AN B4t R, W 36 T F AT
R 7 -
(a) 2,700
~(b) T3,000
(©) 3,300
d 23,600

36. et R @ w1 dww e

TS 37 <eT & A 15 TR | R
Iqh! T 40 M B, 39 @ 6
e ez e -
@ 20%=X |
(b) 247

; (©) 257X

% @ stwaREr ‘/\'9/‘\'

Latest Sarkari Jobs, Govt Exam Re:sults,
Vacancies and updates on one click

395,

36.

A train of length 250 metre crosses a
pole in 12 seconds. How many
kilometres/hour is the speed of the
train ?
(a) 60
(b) 80
(©) 75
(d) 50

On selling an article at ¥ 2,700 the logs
is the same as the profit if it was sold o
10% profit, then what is the cost price
of the article ?

(a) 2,700
(b) 3,000
(¢) ¥3,300
(d) 3,600

The area of a rectangular field is 15
time the sum of its length and breadth,
If its length is 40 metres, then what is

the breadth of the field 2
Lo l’g‘} i |
(a) 20 metres |
(b) 24 metres
(c) 25 metres

(d) Datais not sufficient, Y |
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¥, s aFseEA RN @A Amad | 37, If an amount is doubled in three years

ﬁg_m@mt a miﬁ"-‘{fz a6 at a given ratio of compound interest,
2 gz fre el 3§ @eT T 8 e then at the same rate of compound
pone : interest in how many years it will
(@) 247 become sixteen times ?
®) 1674 (a) 24 years
(c) gad (b) 16 years
d) 1274 (c) 8 years
(d) 12 years
ﬁi!l : (9. 38 - 40) Directions : (Question 38 - 40)

4| forerert A aft ‘B’ % vhgmea fr=ferfiga The examination results of two schools A and
afferar e e & | 9 gyt % sy | B is given in the table below. Answer the

arfere @ @ following questions :
o A | fererera B School A School B |
wamd o . Classes
3 <o wdten & l:ﬂﬁﬂi | Appeared |Pass Appeared | Pass
- " IX 130 |—| 90 50
e . [ Ll R X — |160f 110 T 80
X — | 160 110 | 80
# Xt | 160 |10 - 105 A 160 150} —= 410
R | 105 HIEE— M. M0 L e
o= | 630 | 550 | 430 | 340 Total | 630 |550| 430 | 340

38. How many percent of the total number
of students of both the school are pass ?

g
m!q? (a) 90.0
. e (b) 874
/:: :;: ©) 839
9. X

Latest Sgrkarl Jobs, Govt Exam Rc:sults,
Vacancies and updates on one click
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39, @ fawrert & wen X % 94
& don
(a) 310
(b) 255
(c) 250
(d) 240

40. forener A’ % wanL1x sl HE1-X %

T B ATl et sfea
(a) 150.6
(b) 155.0
(c) 70.0
(d) 1325

RA g0
(i) Pit/c/lar/r;a %1 3% you are good

(ii) dar tok pa %1 1% good and bad T

(iii) timngé,kmmfthpya,mbadtl

berd

41, F@ATTH ‘they’ % 10 fopa iz 7 waim

fFm g 7

(a) na
(b) tok
~~(c) tim
(d) pit

Latest Sarkari Jobs, Govt Exam Re:sults,
Vacancies and updates on one click

39,

40.

The number of passed students of Clasg
X from both the school is

(a) 310
(b) 255
(c) 250
(d) 240

Average of passed students of class IX
and class X of school A is

(a) 150.6
(b) 155.0
(¢) 70.0
(d) 1325

Directions : (Question 41 - 42)

41.

In a certain code language
(i) Pit dar na means you are good
(i) dar tok pa means good and bad

(iii) tim na tok means they are bad

Which code is used for ‘they’ in this
language ?

(a) na
(b) tok
(c) tim

(d) pit




42, IF TA F IW TG FA & fog
frafefeas § @ 60 U9 # @& @

THaT R ?

(a) "M (i)

(b) | (ii)

() T () A (i)

(d) I (i) A (iii)

43, WY ‘A’ F A TR Hl T B’
T e 10 i gt aa Y, 79 T
T g 3R 3 $ie =, P A 98
T qE1 R 14 B Tefl | TERHA R
i gime ?

(@) 4% PUE.

_Ab) SR o
© 27%k A WL
1oFt
(d) 24 | 6
9

44, Ife 5 TEEH 2012 H QEaER AT A 31 9=

42.

43.

Which of the following statements may
be removed in order to find the answer

of the above question ?
(a) only (i)

(b) only (ii)

(c) either (i) or (ii)

(d) either (ii) or (iii)

Prachi starting from place A towards
east upto place B covered a distance of
10 feets, then she turned right and
moved 3 feets, again she turned right
and moved 14 feets. At how much

distance from place A is she ?
(a) 4 feets

(b) 5 feets

(c) 27 feets

(d) 24 feets

If 5 January, 2012 was Monday, then

2013 HI P arfe e ? which was the day on 31* March, 2013 ?
(a) @R (a) Sunday
(b) @WER (b) Monday
(c) TEER (c) Tuesday
@ T FE (d) None of these
CGP - 18 - 02* Page No. 19 Set-A
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. FRAF 3 +, D1 3k +, P T I X
IR S 1 37 - R, 7 68448D258P10 ="
() 46
(b) 64

- (@© 12

(d) 500

P3w: (0. 46 -43)

45.

If A means +, D means +, P means x
and S means —, then 68A48D2S8P10 = ?

(a) 46
(b) 64
(c) 12

(d) 500

Directions (Question 46 - 48) :

O "TRFS @ EmH w4 dd, D, () A wooden cuboid has length 4 cm,
3 ot 3k S 5 R | breadth 3 cm and height 5 cm,
(ii) sﬁd’rxe;ﬂtﬁ&;ﬁqﬂa@f(quﬁﬁ (i) Opposite sides of 5 cm x 4 cm are
TTQ‘E I coloured red.
i) 43f x3 R F R it 3% Y e (iii) Opposite sides of 4 cm X 3 cm are
s coloured blue.
i o s _@ . " (iv) Remaining two sides are coloured
green,
(V) TS AR 1 T xS .
(v) The cuboid is cut-off to divide into
Eﬂﬁmﬂm%] cubesof I cmx 1 ¢cm x 1 cm.
46, T % e T TR 2 46. How many cubes will have only one
colour ?
(a) 12
(@ 12
() 16 (b) 16
(c) 22 ) 22
@ 28 (d) 28

Latest Sarkari Jobs, Govt Exam Re§ults.
Vacancies and updates on one click
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i dast R mam ? 47. How many cubes will have all the three
2
(@) 14 colours ?
(® 12 e
(b) 12
940 (c) 10
48. PR ARST AR ? 48. How many cube will have no colour ?
(@) = (a) Nil
®) 6 (b) 6
) 4 (c) 4
d 2 (d 2
49, sRforafiumue |t s Slgad" | 499. Four options are given. There is
F FHTaT & | R Rrseq 1 a1 T | similarity in three excluding one. Find
the option which differs.
(@ § (a) To hear
(b) =er (b) To climb
(c) dw (¢) Toswim
@ dem e
50. wvAaTE g % W W HE qE R - 50. The correct number at the place of
question mark is
36 ?
5% 36 ? ?
X
N
(@) 4 @ 4
& % (b) 25
(c) 36 (©) 36
(d 10 @ 10
CGP ~ 18 - 02* Page No. 21 Set-A
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S1.

S2.

53.

T T e e fiyoan 5 At B F
F3 A 3 W rsn w1 e e e A
R | oa Qg e o e o £
e wd T % St vt o

W [Ln

(a)

oy

(®)

w|

©)

ola ale

(d

a@mmmmaﬁ@ﬁﬁ
T F e H i 2E, 38

(2) ol FeA TE
(b) v e T
(c) T HEAT YTeHSF TS T HRITHH

(d) 9 A B T

50 @ HH YT TEAI3 & b o
it fo et g e 0 €, 399 dmwE
T HIIA2: TR ?

" (@ 3

() 2
) 1
(d) i & B e

CGP-18~-02*

S1.

52.

53.

From a circular plate of radius 5 cm. a
disc of 3 cm radius was cut, whose
centre is the same point as of plate.
Now, have two items a disc and a

washer. Find the ratio of area of disc
with washer,

Lh

(a)

()

3
1

3
9
© 16
16
@ T

Find two numbers such that the
difference between, their square of sum
and sums of square is 2.

(a) Only imaginary numbers
(b) No numbers

() One number positive and other
negative

(d) None of these

How many pairs of natural numbers
lying below 50 will satisfy the
condition that the ratio of their
difference to their sumis 2 : 7 ?

(a) 3
(b) 2
() 1
(d) None of these

Latest Sarkari Jobs, Govt Exam Results,
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54, T, 7 3 ¥R UF 7 B FE: 30/ | 54, Ram, Shyam and Hari can do a piece of
453ﬂ160ﬁ={ﬁmm‘glﬂﬁ%ﬁm work in 30, 45 and 60 days
tively. If they do the work
70 H1 B F ¢ 7,800 FA &, 79 s 4 S
together and eam T 7,800, then what
H ? amount Ram will receive ?
(a) 3,800 (a) ¥3,800
(b) ¥ 3,600 (b) 3,600 ¥
(c) 23,400 (c) T3,400
(d) 3,200 (d) 3,200
55, u%H WMl 40 fefi /g hr e |, 3fF | 55, A train with speed 40 km/hr crosses a
T ¥ 25 ot /v Y v & 5ol T man, moving in same direction of speed
' : 25 kmvhr in 48 seconds. What will be
3TeHY %, 48 Vehee o YR KT 8 | T _
the length of train ?
61 TS T gt 7
(a) 50 metre
(a) 50#eT
(b) 100 metre
~(b) 100 Htex
(¢) 200 metre
(c) 200X
(d) 400 metre
(d) 400 ¥t
56. ﬁﬁﬁﬁﬂﬂﬂﬁﬁiﬂ?%ﬁmm ? 56. Which number will appears in
3/\9 \/‘?\ following square ?
2, ,4|:| 8, 81, 3,2,9,4,[],8,81,16
—(a) 27 (@) 27
(b) 21 (b) 21
(c) 18 (c) 18
@ 15 (d 15
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57, P sut o Ran @R 57, Consider the following statements :
) qq;mi;ima;muq tmﬁﬁ (1) A team leader need skill to assess
strength and weaknesses of team
T 3R sl & HE W

members,

< R EEs )

(1) A team leader need skill to develop
(i) T T ¥ Yoy % fore sufen e

specific individual goals and o

W ol T ¥ Ry e @9 & establish a common goal for the
Frufor = Sve smws R S
TE TR aﬁ:mfﬁuﬁt,’? ? Which of the above statement(s) is/are
correct ?
@) FA ()
@) Only (1)
(b) FI (ii)

(b) Only (i1)
© )9 (i) 2

(¢) Both (1) and (i1)
(@ F) IR i)

() Neither (1) nor (i1)

58. F=foles # @ 99 o1 w-urff gwnr | 58,

Which of the following is an example

FTITEWTR ? of one-way communication ?
- (a) T AfasH (Q'Qh) FTER (@) A television programme

(b) T HET-+y RiRfy x (b) A classroom situation

(¢) T EHEA Y ' (¢) A conference

(d) fdifRvgwdes (d) A meeting on an issue
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iy : (1. 59-62)

Pt a1 1 S T
¥ s e :

s, T, S ST, s
gﬁaﬂtaﬁamﬁﬁ%l%aﬁmﬁﬁﬁ
Rt STETAT ¥ JUl Hehfwehed, %ﬁﬁﬁ’
Qmfe, S T, T TR,
ﬁ@mﬂgaﬁ;mﬁ%@% EEEE
s T 2 | 5 @ v R § o
er 7 e, e, BT, ST, Tty
aiefiater it a2 e 8 00 A i
s 7 3 1 e R e B 7
e 3R € g Tl TEaI R | 3
e g § 3R afefiaie G § | 3
SR Ted & 3 Featd 3 W A de
3 | 5 Hfirpe gar & 98 Brhe Werat 2 | W
FeaTer Gl § 98 HAGEL HILH TGl @ | I
e o § | e defie wer @ o
Tafaee Tl & | M Hidehet T8l Tgdl @ |

Wt
59, EATC I W @ ?
(a) At i
(b) 3 1’{
Ac) HEH
(d) I
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Direction : (Question 59 - 62)

Read the following information carefully
and answer the questions :

Ajay, Avinash, Amit, Alok, Arun, Anil
and Akhil are seven friends. They are studying
engineering in different branches such as
Mechanical, Chemical, Electronics, Computer
Science, Information Technology, Biotech and
Electrical not necessarily in the same order.
Each of them also excel in one of the following
games such as Football, Cricket, Hockey,
Badminton, Squash, Volleyball and Lawn
Tennis, again not necessarily in the same order.

@7 plays Hockey and neither studies
Electrical nor Information Technology. Arun
studies Electronics and plays Volleyball. Ajay
studies Biotech and does not play either
Football or Squash. The one who studies
Chemical plays Cricket. The one who plays
Football studies Computer Science.@plays
Squash. Akhil plays Badminton and studies

Electrical. Alok does not study Chemical. A
ectric ok does not study emc@f%_;d%h|

%Ms Football ?

8 (a)@ o

(b) éﬁln"’r :
4f). Alok f@‘
(@) Wy

o
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60.  Stfer ot wga & 7 60. What does Anil study ?
@) Hfwa (a) Chemical
(b) T MY (b) Information Technology
_A¢c) - EoEET (c) Mechanical

(d) Computer Science

(d) IR FEY

61. FfRsa iy o Qe s @adie ? | 61.  Which of the following game does Ajay

(a) Terehe Ry

v : (a) Cricket
: (b) Football

S (c) Badminton

@ wRdFE

(d) Lawn Tennis

62. M FTIGAR ? 62. What does Avinash study ?

~(a) Hfuss (a) Chemical
(b) GE e (b) Information Technology
(c) Bhfrhat (c) Mechanical
@) R " | (d) Electrical
po_u;oz‘ ; Page No. 26 SetA
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21 258 T T IBTA 1w |

63. IR

5 M1 & @ IS e f@:qu
m%lﬁmaﬁaﬁﬁgﬂwm

63.

(a)
(b)
©

(d)

Ol—= W= Wl— W[

64. qaamﬂqﬁmwmsrﬁxzrﬁ%,aﬁqm 64.

Two fair dice are thrown independently
by a player and needs a total of 5 to win
the game. What will be his probability
of winning the game ?

(a)
(b)
©

(d)

Ol— = W= W

A plot of size 3 m X 2 m is dug upto

HIEU TR TeH 39 vt & 5w St e depth of 1 m. The soil taken out was
1 used to form a boundary of the said plot
5 W St Tt
% SR T to a height of '21:‘ m with uniform
3gh =St T @ @ 3 (Freh) § :
'E?f'ﬂ y thickness of the boundary, then the
1S ‘ /\ ; thickness of the boundary will be
1 i 1
@ 3 @ 7m
3
® 5 g
2
© %rﬁ & g
@ 3“'& 3 ﬁé - (d) None of these
65. fret o B Fqu F Sovw W aws | 05 Ié‘a:.;mle of fﬂ‘;i:m a, }rh; P of
- imum size is drawn. Then the ratio
R T AT 1 o Gt 1 ST & of area of circle and the area of square
& (@ =
® 32 n
3 (b) )
© 7 © 2
(d) T qHETE (d) None of these
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- redg w2 - T, ‘e’ s el o T -
(a) WM -g: + gfYy (a) anfeg
(b) PSR- + 7R (b) TRfa
e gl o
=0l + 3= ()
67. Fifradd ygwa -
(a) 3rweh T W
(b) FTehera ®.Fae
(©) @ T
(d) 3TEe (c) T
| (d) HEH =
68. ‘AT It 7 e FrEE e R -
(a) UeTh WG T | ¥ 73, freffee § & ‘o TR -
®) 3@ 7 e | ¢ (a) BYeH
< (c) UM I |
(d) FUET T | e
(c) HEA
69. TH Tl Wew, W fw =G AN H (d) &
R -
(a) S h ¥ A9 T TE T R | 74. g1 % SIS e § -
(b) e 3R A H-Tm IR F | (a) TSR
(c) Tﬁiﬁaﬁﬁmﬁﬁﬂﬂﬁ'{'ﬁﬂm (b) favamr
B 9 |
D) RF G E e shogu @ 52 it
S (d) =hemeR
70. FAWMIRTER ? 75, I o e v d -
(a) 3= (a) IUEH
(b) 3sut (b) I3
(c) IsoEdd (c) aTms
CGP - 18 - 02* Page No. 28
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76 A it 7 80. mﬁﬂﬁﬂ'%%ﬂm
(a) "o ggmrl'q'mi?
(b) WG () wrdl 9
(c) (b) BTt Fer ¢
(d) foaferet Ac) ot 9Tl
(d) BT @
77, T it & 9Um Hrer-vmg o 3
%mww (zﬁﬁﬁz%mmﬁ 81, el e o T A I B -
i RIS L 88 S qegT-Ugd1
(@) T # E
(b) AT T 2 X
(c) agdt aqt ©
(d) g 3ET b TS
‘ _ 82. ‘At we % fore SefierTel gere
78. :miﬁ? BT % T weftamelt gera w=n 5.0
(a), ST BT TN s 4
YT
(b) 3TeFhel A1 TIEL WAl ® qq::“
c) " ¥
(c) A= ST i
o (d) HF UG ¢
79, ‘el g R g | 83 STl w1 -
M7 @i g-gufew g, urgE
(a) rgen &1 (a) Hifcrers
(b) Hrag-hig B (b) gg”
(c) wier &M () ggam —
(d) #ri-wfE g (d) wwEr —
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84, @ aRFRItmeRRH - | 87, oiwd dwfE & o @@ 6o
TR S N Hal iR
T e faga i @ O weh
_Aa) EAE T Hiﬁﬁ'ﬂ
(b) wHI3m (a) &
T
© Ra (b)
(c) dfean
@ (d) T8
85. THETE AR R OHA MR- | 88, SIS I HI I M~
R = 5 o, B Gt 35 A Pl 5 e
(a) g
(a) A .
(b) =gHI
_Ab) W@ (©) e
(c) diar (@) TiEs -
(d) S 89. welwd Ter feaw Y T T -
(a) 28 TaFR
86, e S & R W B O % Lastien
AT (c) 21 Hal
HAE-TIET 7 3R, T ek (d) 14 fi@s
il 90, ‘BT % Hy =R FoH g f
(2) Hifea PR TISF 6 T GEAEH DA & 7
i, cil
it (b) . fmer FHR IEH
4 (c) Trereg g
() g (d) T feranrlh
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g’ 1 3 R
) ﬁﬁﬁ'ﬂ 96, Wﬁmﬁﬁwmt-
(b) e (@) g&'ﬂ
(b) IH
g () T
(d) gl (d) TX
: o SdETe! |
 fmferfied # @ B 1 39 i g7, fyeferfaa § @ S A S
92
(a) ¥ e @ ?
@ 1
- () ¥
(c) A& © 1
s @ &
T ST ‘T fad g, o1 A
93, TR ABHATAIR ? 98, ﬂmwm?
Sl (a) Hierhs
(b) I )
gL (c) YN
(@) W d) "L
04, ‘e IeG 1 g FI G ? 99, ¥ e FrmushF AR ?
@ T (a) Hehs
(b) o€ bl
(c) T J EZ)) bk
2
gty 100. ‘S H A TR ?
95, ‘Rt wg W fadmr (S¥fET) W TTF Y el Fehd 9,
AR - A T afgar IRa 9 |
(@ e (a) I
(b) frdm (b) famdt
) PP (c) +ge
(@ P b 08
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